(1 SR8800-X HiZMA-RimMAMIRIN R F?

LLOKREEC]  Z=ER 2022-04-06 kF

SR8800-X B9 1 <Y I I HERZ=AT an AR Al AT N2 1 ?


https://zhiliao.h3c.com/questions/catesDis/561
https://zhiliao.h3c.com/User/other/77698

using gigabit, #<FESRIG10GEREOIHERLGEREO,
FERAGON, REBLUFMNGOA—E#H TR, —RAEMIm NEO TR, BRI
OSUIRELMEMEE NS, S—HinOPFERSENRRROR, WASIFAIIRE,
[241]
# & Ten-GigabitEthernet3/1/1F1Ten-GigabitEthernet3/1/ 28 IR GEREO,
<Sysname> system-view
[Sysname] interface ten-gigabitethernet 3/1/1
[Sysname-Ten-GigabitEthernet3/1/1] using gigabit
The interface Ten-GigabitEthernet3/1/1 and Ten-GigabitEthernet3/1/2 will be deleted. Continue? [Y/N
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